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(—) (24%, %% 4%) LetT:R2- R?be a linear transformation

and that T(1, 0)=(2, 7), T(1, 1)=(4, 5)

(a)What is T(3, 5) ? (b)What is T(a2, b?) ?
(c) F T(p,g)=(18, 54), Find p, ¢ ? (d) Fund the null space of T ?
(e) Find the range of T ? :___—_ _ (f) Is T one-to-one: ?
{ : x+y+z=1
(=) (18%, %% 6 %) Consider the following Linear system equation {x+ky+z=1
x+y+thkz=1
Determine /i condition to make system:
(@) A unique solution (b) No solution (¢) Infinitely many solutions

(=)(24%, 4 1-%8 3 %) Consider the vector space of all functions of a variable x.

Determine the following sets of functions are linear independent or liner

dependent .(show details)

(a) sinx, cosx (b) x, x2 (c) x, sinx (d) In(x), In{x4)

(€)0,tanx () x x2, x° +g) e e, ez (h) sin2x, cos2x, cos2x
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(m) (34%, (a)~()% /8 4 %; (g)~(h)& /1 E5% ) Let A= |P ¢ r| and det(4)=8,
x ¥

(5]

Find:
(a) det (-A) (b) det (-24) (c) det (A7)  (d) def (24")T
o a+2p -x 3p
(e) det (adj(A)) () det) b+2g— 5 39
| c+_—27'—_—— zgr

(@) fb=c=r=p=x=y=0,and a>qg>z>0,Find g, g, z

(h) if b=c =r=p =x=y=0, and a > g > z>0, Find eigenvalues of A.




